Nuclear Equations Worksheet

> ldentify the missing atomic nuclei or radiation particles

in the following nuclear equations.

[01] 88Ra226 - + 2He4

[02] "> N+

[03] 19K40+ _leo - +Y

[04] = 93Np237 + 2He4 +Y

[05] 7N14+0n1_’ 6C14+
[06] 531131_’ +_160

[07] JF'8— +,°

[08] 90Th232 - + 2He4

[09] o, U™ +,n' = +3 K+ 3,n' + Energy

[10] 88Ra226 - + Onl + Energy

[11] - 84P0218+ 2H64

[12] 19K37—> _le0+

[13] Be’+ H' - +,He"

[14] 19K42—> _1e0+

[15] 92U235 = +9OThz31

[16] 94Pu239—* 2He4+

[17] H'+ H'->

[18] Ai¥+,He' = P+ n'

[19] ,Li®+ n'— ,He'+

[20] 92U238 + ZHe4 i + Onl
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Answers

226 222 4
gsRa™™" = ¢ Rn™"+,He

14 14 0
6C - 7N + €

40 0 40
K+ 6= Ar +Y

241 237 4
95Am - 93Np + 2He + Y
14 1 14 1
7N + oIl - 6C + 1H

131 131 0
sl = sXe T+ e

18 18 0
9F - 80 +4€

232 228 4

235 1 141 92 1
U +on" = Ba ™ +3Kr™+3,n" + Energy

226 4, 1
gsRa™ = ,He + ;n" + Energy

222

218 4
ggRn"“ = ¢,Po"" +,He

37 0 37
1K = e+ gAr

9 1 -6 4
Be + H — ;Li"+,He

42 0 42
K= e +,,Ca

235 4 231

239 4 235

1 1 4
H'+ H'= ,He

27 4 30 1
13Al + 2He - ISP + On
6 1 4 3

3Ll + On g 2He + IH

238 4 231, 1
nU"+,He" = o,Pu™" + n
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